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Model Question-paper
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Set- 1(Jc—1)
Class — 12 Subject — Mathematics Time — 1H_r 30 Minutes F. M -40
(a@f—12) (Fry—rfora) (FHa—1 ®eT 30 fA9e) | (quiid—40)

A Fe- (General Instruction)

» Candidates are required to give their answers in their own words
as far as practicable.
TRIeTefT JATEYT MU el H SR < |

» The total number of questions is 19.
HA LAl DI F=AT 19 T

» Question number 1 to Question number 7 are very short answer
type questions. Answer any five of these questions. Each question
carries 2 marks.
T T 1 W YT AT 7 O SITAYSTN UeT €| 399 A
fpel Ui uedl & IR QURTT | Ud U9 &T A1 2 3fd FeiiRa
g |

» Question number 8 to Question number 14 are short answer type
questions. Answer any five of these questions. Each question
carries 3 marks.

UeT AT 8 W R AT 14 9% AgSNY U €| g H |
fp=sl dfa uedl @& SR <INTY | Tld U9 &1 719 3 3fd FeiRd

=

» Question number 15 to Question number 19 are long answer type
questions. Answer any three of these questions. Each question
carries 5 marks.

9T AT 15 F Y97 G719 db STISTNT Y99 2| 598 @
fr=gl 9 9o+ & SR SINTT | I-¥d U3 BT |19 5 3 FeiRa
=
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Section-A (TUs-31) (2x5=10)

2 — 3sinx

1. Evaluate (A9 STd BIFSTY): j—dx

cos?x

2. Find the order and degree of the following differential equation:

oI araeel FTHIDROT B BIfe TR °Td A DI -
dy\* _d%y
—=) +3-——==0.
(dx) * dx?
3. Find the projection of the vector @’ = 2 + 3] + 2k on the vectorb = 20 + 2j + k.
afewr @ = 20+ 3] + 2k @1 AR b = 20 + 2] + k W YT ST Y|

4. If the position vector of a point (3, —2,6) be @, then find |a’|.
e favg (3,—2,6) &1 Rfay Afeer @’ 2, A |a’| S By |

5. Ifaline has direction ratios 2, —1, —2, determine its direction cosines.
e U Y& & fRe—3rurd 2,—1,—2,8 I 3AD! [Qh—PrA1Sd SId BIfoTY |

6. Find the direction cosines of the line segment joining the points A(1,2,—3) and
B(—1,-2,1).

f45 A(1,2,-3) 3R B(—1,-2,1) & fAa™ arell War-—gvs &1 fAa—arasd g1d
DI |

7. IfP(A) =7/13, P(B) =9/13 and P(AN B) = 4/13, then evaluate P(A/B)
and P(B/A).
afe P(A) = 7/13, P(B) = 9/13 3R P(ANB) = 4/13, A1 P(A/B) 3R P(B/A)
ST DI |

Section-B (¥vs-9) (3x5=15)

8.  Evaluate (| =d ®ISM0): [ cos* x dx.

1
9. Evaluate (A SITd HINTQ): wdx.
V1 —x2
21 1
10. Evaluate (A9 STd BIFSTY): f (———) e?*dx.
; \x 2x?
/3 dx

11. Evaluate (A9 STd BIFSTY): f _
/6 1++/tanx
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12.

13.

14.

15.

16.

17.

18.

let @ =1+4j+2k, b =3i—2j+7kand¢ =20 —j+ 4k. Find a vector d
which is perpendicular to both @ and b, and ¢ - d = 15.

aE AT @ =1+4f+2k, b =31—2j+ 7k R ¢ =20—j+ 4k v T
dfewr d S BT ST @ 3R b el R e & iR ¢ -d = 15.

Find the angle between the following pair of lines:

T =30+]—2k+ A0 —j—2k)and 7 = 2i — j — 56k + u(31 — 5] — 4k).
RrferRad Ya1 g & 4 &1 B S B

T =30+]—2k+ A0 —j—2k)3R 7 =2i—j— 56k + u(3i - 5j — 4k).

Assume that each born child is equally likely to be a boy or a girl. If a family has two
children, what is the conditional probability that both are girls given that
(i) the youngest is a girl, (ii) at least one is girl.

A4 of 6 99 o a1 99 BT ddsdhl T odSd! BIFT 99Ty B | Ife fhar uRar
¥ Qg B, dl QI 9l B ofSdl B B Aufddy UTRiedr w1 §, Ife I8 fIar

T 7 6 (i) T BiCT god dsa! 7, (i) FAaH Ud el dsdl o |

Section-C (¥vs-9) (5 x 3 = 15)

x> +x+1
x+2)2+

Evaluate (A9 SITd SIfTQ):

x4+ 2

Evaluate (AT : dx.
valuate ( @TﬂﬂéﬁlQ)jzx2+6x+5x

Ifi+j+k, 2i+5j, 3i+2j—3kand i— 6] — k respectively are the position
vectors of points 4, B, C and D, then find:

() AB and CD, (i) |AB|and |CD]|, (iii) 4B - CD, (iv) AB x CD

(v) angle between vectors AB and CD.

afe i+j+k, 20+5f, 31+2j—-3k R i—6j—k wmer 95 A, B, C 3R
D &1 Rfq dfewr &, a1 sird ifom -

(i) AB 3R CD, (ii) |AB| 3} |CD|, (iii) AB - CD, (iv) AB x CD

(v) @feeil AB @R CD & & &7 Hivr|

Find the shortest distance between the following lines:

T =1+2j+ 3fc+/1(22+3j+412)and T =20+ 4] + 5k + pu(4i + 6] + 8k).
e XErett & 9 @Y <IAaH ) ST BIRT -

14 2]+ 3k + 221 + 3] + 4k) 3R 7 = 21 + 4] + 5k + u(4i + 6] + 8k).

T
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19. Solve the following LPP graphically:
Maximize Z = 3x + 2y
Subject to constraints:
x+y<4
x—y<2
x,y = 0.
ey fafd & /=1 Raw g™ T T BT ' BT
Z = 3x + 2y JARHAHHIOT BT,
Safh x +y < 4
x—y<2
x,y = 0.
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